Corrigé et baréme  4uilahy A jia paa g Ao gia yida

A. Comprehension (7 pts)
1. a) True (0,5 pt) b)True (o,5 pt) c)True (0,5 pt)

2. a) adiscovery is something found in nature which was previously unknown (1 pt)

b) inventions are useful to humanity because they bring wealth to a nation and help prepare the way for
more inventions. (1,5 pts)

c) “discovery”: a new chemical element |/ “invention”: a new type of engine (1pt)

3. a) “it”: a new method, machine, or gadget (o,5 pt)
“They””: new inventions (0,5 pt)

4.a. development = progress (0,5 pt)
c. domains = fields (o,5 pt)

B. Mastery of Language (8 pts)
1. a) falls (1 pt) b) wins (1 pt) c)would be (1 pt)
2. a) New jobs, businesses and industries are made by new inventions. (1 pt)

b) The pupils are copying down lessons. (1 pt)

3:
Verb Noun
(to produce) (0, 5) product
to add (addition) (0, 5)
to live (life) (0, 5)
to differ (difference) (0, 5)

4. (0,25 pt for each answer)

One syllable Two syllables Three syllables Four syllables
field Business / machine / democracy

5. Written expression (5 pts)




